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DATA HANDLING

lllustrations

1. Given below is the marks obtained by 30

students in a unit test of class VI, out of 50.

32,48,40, 31,40, 32, 25,42, 39,15, 48, 32, 25, 22,


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_xZlPiU9vvVeU

32, 25,19, 31, 48, 32, 42, 15, 25, 19, 32, 31, 25, 48,
22, 15, Represent the data in a tabular form

using tally marks.

o Watch Video Solution

2. Priya is playing with a die. She noted the
number comes up each time after throwing it.
The number appeared on the dice each time is

shown below.

23 56 6 6 6 6 6 35 2 4
133554466 3 3 2

Make a table using tally marks and answer the


https://dl.doubtnut.com/l/_xZlPiU9vvVeU
https://dl.doubtnut.com/l/_ctiuyaeGXBvs

following questions.
Which number on the dice appeare minimum

number of times ?

o Watch Video Solution

3. Priya is playing with a die. She noted the
number comes up each time after throwing it.
The number appeared on the dice each time is

shown below.

23 56 6 6 6 6 6 35 2 4
133554466 3 3 2

Make a table using tally marks and answer the


https://dl.doubtnut.com/l/_ctiuyaeGXBvs
https://dl.doubtnut.com/l/_hNSKGEasdpQd

following questions.
Which number on the dice appeared maximum

number of times ?

o Watch Video Solution

4. Priya is playing with a die. She noted the
number comes up each time after throwing it.
The number appeared on the dice each time is

shown below.

23 56 6 6 6 6 6 35 2 4
133554466 3 3 2

Make a table using tally marks and answer the


https://dl.doubtnut.com/l/_hNSKGEasdpQd
https://dl.doubtnut.com/l/_k9diE1S7Um2I

following questions.

How many times the number '4' appeared ?

o Watch Video Solution

5. Following data shows the favourite fast
food of 20 students of class VI.

Burger, Burger, Pizza, Momos, Sandwich,
Momos, Pizza, Burger, Sandwich, Burger, Pizza,
Pizza, Sandwich, Momos, Burger, Sandwich,
Momos , Pizza, Sandwich, Burger.

Prepare a table using tally marks and answer


https://dl.doubtnut.com/l/_k9diE1S7Um2I
https://dl.doubtnut.com/l/_3CvlYFWuyxsG

the following questions.
Which two fast foods are liked equally by the

students ?

o Watch Video Solution

6. Following data shows the favourite fast
food of 20 students of class VI.

Burger, Burger, Pizza, Momos, Sandwich,
Momos, Pizza, Burger, Sandwich, Burger, Pizza,
Pizza, Sandwich, Momos, Burger, Sandwich,

Momos , Pizza, Sandwich, Burger.


https://dl.doubtnut.com/l/_3CvlYFWuyxsG
https://dl.doubtnut.com/l/_alB2tqUQWUmn

Prepare a table using tally marks and answer
the following questions.

Which fast food is liked most by the students ?

o Watch Video Solution

7. Following data shows the favourite fast food
of 20 students of class VI.

Burger, Burger, Pizza, Momos, Sandwich,
Momos, Pizza, Burger, Sandwich, Burger, Pizza,
Pizza, Sandwich, Momos, Burger, Sandwich,

Momos , Pizza, Sandwich, Burger.


https://dl.doubtnut.com/l/_alB2tqUQWUmn
https://dl.doubtnut.com/l/_7BLXYPbIYmG1

Prepare a table using tally marks and answer
the following questions.

Which fast food is liked least by the students ?

o Watch Video Solution

8. The pictograph shows the number of
bicycles made by a factory during the four
weeks of a month. Answer the following

questions.


https://dl.doubtnut.com/l/_7BLXYPbIYmG1
https://dl.doubtnut.com/l/_htS9fZOXJud7

Weeks | Number of bicycles
@V @YD Eve
2 |VDEVE
¥ |GV YD GV @Y YD

How many bicycles were made by the factory

during 1% week ?

o Watch Video Solution

9. The pictograph shows the number of

bicycles made by a factory during the four


https://dl.doubtnut.com/l/_htS9fZOXJud7
https://dl.doubtnut.com/l/_YCVCNN43S5IV

weeks of a month. Answer the following

questions.

Weeks | Number of bicycles
1 |@Ve YD @D
2 | @AVDEYD
il [ColeolOleOIEO

llllllllllllll

What is the difference between the number of

bicycles made during 3¢ week and 4" week ?

o Watch Video Solution



https://dl.doubtnut.com/l/_YCVCNN43S5IV

10. The pictograph shows the number of
bicycles made by a factory during the four

weeks of a month. Answer the following

questions.
 Weeks | Number of bicycles
E""‘ i |. ¥ ;"l .+-j ¥ :
T— - % 3 1
3 LY (O O @y V¥ [
—-T ¥ 3
4ih 2 ‘:_.. Ay s
| Each .4 7, represents 100 bicycles.

= = = -

In which week maximum number of bicycles

were made ?

o Watch Video Solution



https://dl.doubtnut.com/l/_vgecjvQl20TM

1. Prepare a pictograph for the given data

that shows the pocket money of six children.

Fl'bﬂjﬂ-

o

. Nlm Shwnni
600

:_h!p_nt_-i-tin 0

e Lo oo

o Watch Video Solution

12. The given bar graph represents the sale of

cars in five different states in a month.


https://dl.doubtnut.com/l/_vgecjvQl20TM
https://dl.doubtnut.com/l/_FvzAxoAzSXFv
https://dl.doubtnut.com/l/_QzwCxEoYuySz

Scale 1 division = 1000 cars

Mumbai
: S
# Haryana 1
Rajasthan
Delhi |
740 20 30 40 50 &b 70 80 % 100

Which state sold maximum number of cars ?

° Watch Video Solution

13. The given bar graph represents the sale of

cars in five different states in a month.


https://dl.doubtnut.com/l/_QzwCxEoYuySz
https://dl.doubtnut.com/l/_ZTtNadIPfSO5

Scale - 1 diviswon = 1000 cars

States

What is
the difference between the numbre of cars

sold in Mumbai and Punjab ?

o Watch Video Solution

14. The given bar graph represents the sale of

cars in five different states in a month.


https://dl.doubtnut.com/l/_ZTtNadIPfSO5
https://dl.doubtnut.com/l/_rjiVHSHCswiQ

Scale - 1 division = 1000 cars

States

Which state sold 5000 cars ?

o Watch Video Solution

15. Given bar graph shows the number of
books of difference subjects kept in a library.

Study it and answer the following questions :


https://dl.doubtnut.com/l/_rjiVHSHCswiQ
https://dl.doubtnut.com/l/_mDK6A0WeBb3o

450

350
300

200 I O
150 — 4 M4
100 - [
50

Number of Books

Eng. Maths Science Hindi Social
Science

How many Hindi books are kept in the library ?

o Watch Video Solution

16. Given bar graph shows the number of
books of difference subjects kept in a library.

Study it and answer the following questions :


https://dl.doubtnut.com/l/_mDK6A0WeBb3o
https://dl.doubtnut.com/l/_BtDIyBduD8YA

450

350

3001 -

150 —y -
1001 1
50

Number of Books
Pk
=
|
|

Eng. Maths Science Hindi Social
Science

Are number of books of Science more than

that of Mathematics ? If yes, then by how

much ?

o Watch Video Solution



https://dl.doubtnut.com/l/_BtDIyBduD8YA

17. Given bar graph shows the number of
books of difference subjects kept in a library.

Study it and answer the following questions :

F

450
400 T
350
0 -
250 S N e
200 —
150y ™y 1 3
100 : S
50 -

Number of Books

Eng. Maths Science Hindi Social
Science

Which subject has minimum number of books

in the library ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZBMdjg9Y7DUU

18. The table represents number of tourists

visiting a zoo for 5 months.

Months | January | February | March | April | May

Number
of 120 180 270 150 | 120
tourists

Make a bar graph representing the above

information.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZBMdjg9Y7DUU
https://dl.doubtnut.com/l/_7NL1Fo06sJ3v

19. The are cultivated under different crops in

a year was as follows.

Crops Area (in hlﬂ'-ll';
Wheat 24
Pulses | 26
Other cereals 40
il seeds 18
- Sugarcane = 4
PRI T RS,

Which crop was cultivated in the smallest area

?

o Watch Video Solution



https://dl.doubtnut.com/l/_wcpS2uH4zWSb
https://dl.doubtnut.com/l/_awU43zPo9KjD

20. Look at the frequency chart representing
the number of books read by the class in the

post month.

| Number of
| students

Booksread| 1 | 2 | 3| 4| 5[ 6 |

How many students read atleast 4 books.

° Watch Video Solution

Solved Examples



https://dl.doubtnut.com/l/_awU43zPo9KjD

1. In a survey of 20 families, each family is
found to have the following number of
children.1,2,2,3,2,3,3,4,1,1,4,4,2,2,3,1,5, 1,
1,2

Represent the data in tabular form using tally

marks.

o Watch Video Solution

2. Study the bar graph and answer the

following questions.


https://dl.doubtnut.com/l/_dpm66vMTB3GI
https://dl.doubtnut.com/l/_z5dU0lUthcdu

Scale : 1 division = 25 students

175~

150+

|25+

m-

254

O —Tennis Football Hockey Cricket
Sports

No. of students —
3 8

F

Which is the most popular sport ?

° Watch Video Solution



https://dl.doubtnut.com/l/_z5dU0lUthcdu

3. Study the bar graph and answer

following questions.

20004
1751
15004

No. of students —»

Scale ; | division = 25 students

... e N A
Tennis Football Hockey Cricket

Sports

Which sport is preferred least ?

the

o Watch Video Solution



https://dl.doubtnut.com/l/_l9BJ9fITb9c8

4. Study the bar graph and answer the
following questions.

. Scale : 1 division = 25 students

1751

I 504

No. of students ——— 5

A bopd ke he
Terre  Football Hockey Cricket

Sports
What is the difference between number of

students playing football and hockey ?

l ﬂ Watch Video Solution l


https://dl.doubtnut.com/l/_wsAaeqYmxWm3

5. The sale of number of dolls on different
days of a week in a shopping mall is shown

below :

Days Number of dolls

vty (RRRRRR
wey  (RRRRRRRA
Wednesday ﬂ"ia

musty | R A RAR

Friday ﬂ’ﬂﬂﬂﬂ'
Saturday ﬂﬂﬂﬂ

sty (RARRRRRAR

Each ' represents 20 dolls



https://dl.doubtnut.com/l/_wsAaeqYmxWm3
https://dl.doubtnut.com/l/_wRooyptM0qhW

Observe the pictograph and answer the
following questions.

How many dolls were sold on Tuesday ?

° Watch Video Solution

6. The sale of number of dolls on different
days of a week in a shopping mall is shown

below :


https://dl.doubtnut.com/l/_wRooyptM0qhW
https://dl.doubtnut.com/l/_J2yL6eMJYEO6

Days Number of dolls

vty (RRRRRR
wedy  |[RRARRRRRR
Wednesday "iia

musy (R R RAR

way  |RARRARAR
sty | RARR

sty (RARRRRRAAR

Each ,mpmﬁenhlﬂdulls

Observe the pictograph and answer the
following questions.
On which day maximum number of dolls were

sold ?

I ° Watch Video Solution


https://dl.doubtnut.com/l/_J2yL6eMJYEO6

7.The sale of number of dolls on different days

of a week in a shopping mall is shown below :

Days Number of dolls

vty | RRRRAR
wetry  (RRRRRARRA
wenestay (R4 R R

musy | RRRRR

may  (RRARRRAR
Saturday ﬂﬂiﬂ

sty | RRRRARRAR

Each ' represents 20 dolls

Observe the pictograph and answer the


https://dl.doubtnut.com/l/_J2yL6eMJYEO6
https://dl.doubtnut.com/l/_nWGBX5KxlxCm

following questions.
Find the total number of dolls sold in first

three days of the week.

° Watch Video Solution

8. The number of benches in each class of a

school is depicted by the pictograph.


https://dl.doubtnut.com/l/_nWGBX5KxlxCm
https://dl.doubtnut.com/l/_Ej3ZM0KXtVNn

Classes | Number of benches o
B el el sl sl il
L s sl mal sl e
m T
v | e
L 2 iy §
vi_|mornme
Vi | e
vie | rpm
_Enmﬂmﬁﬁnuamhﬂ -

Observe the pictograph and answer the

following questions.

How many benches are there in class VI ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Ej3ZM0KXtVNn

9. The number of benches in each class of a

school is depicted by the pictograph.

Classes .[Nu-mhrr of benches
SN L sk ks e nal wal
. A ik el sl
L Kl okl s
v "f"""l"f""'IT'f""T
v__ [
VI | e
viL | e
v |
Each T represents 4 benches

Observe the pictograph and answer the
following questions.

Which class has maximum number of benches


https://dl.doubtnut.com/l/_9aLGNrD6V6np

? Also, find the number of benches in that

class ?

° Watch Video Solution

10. The number of benches in each class of a

school is depicted by the pictograph.


https://dl.doubtnut.com/l/_9aLGNrD6V6np
https://dl.doubtnut.com/l/_16821pzvpOfz

Classes Number of benches o
B £l ek cal sl s o
TR aal ahi athi s
[Tl ks ek sl s
LA A mal ks i
R i :
L ads il s i )
VIl Ll rrhrr'l"r
vie | iem
| Each T rr]:;:ﬁenfm_d_. benches

Observe the pictograph and answer the
following questions.

Which class has least number of benches ?

o Watch Video Solution



https://dl.doubtnut.com/l/_16821pzvpOfz

11. Read the bar graph and answer the
questions.

Scale | division = 10 students

g

E &

gz 2

5

Mumber of students
participating in fest  ——3
o
&

=

it
|
i

=
1

=

A B C (& E
Schoals

From which school 80 students participated ?

o Watch Video Solution



https://dl.doubtnut.com/l/_DHv6CwBNhVqP

12. Read the bar graph carefully and answer

the following questions.

Seale | division = 10 students

2

2 s
|

Number of student
participating in st  ——3

How may

students of school B participated in the fest ?

| & |


https://dl.doubtnut.com/l/_DHv6CwBNhVqP
https://dl.doubtnut.com/l/_8aTPeEKPM6Ic

| ¥ Watch Video Solution |

13. Read the bar graph carefully and answer

the following questions.

Scale | division = 10 students

Mumber of students
participating in best  ——3»
T
&

A B C D E
Schools From


https://dl.doubtnut.com/l/_8aTPeEKPM6Ic
https://dl.doubtnut.com/l/_7QKL0vgmB3bX

which school maximum number of students

participated ?

° Watch Video Solution

14. Read the bar graph carefully and answer

the following questions.


https://dl.doubtnut.com/l/_7QKL0vgmB3bX
https://dl.doubtnut.com/l/_LGjxfYNE8oum

Sceale | division = 10 students
1000 4 —

3 £ =

Z

£

Mumber of students
partiapating in fest ———3
o
=

=

What is
the difference between the numbr of students

participated from school Cand D ?

o Watch Video Solution



https://dl.doubtnut.com/l/_LGjxfYNE8oum

15. In a village, fruit sellers sold the following

number of watermelons in a particular week.

Name Number of watermelum! sold .

Sohan Ioaee

' Shyamlal I.oeoo
90000000
ot 900000000
= 90000000

Each o represents 10 watermelons

Which fruit seller sold the minimum number

of watermelons ?

° Watch Video Solution



https://dl.doubtnut.com/l/_tUuurKYGmIIv
https://dl.doubtnut.com/l/_TY9w5ueUfgrr

16. In a village, fruit sellers sold the following

number of watermelons in a particular week.

Name Number of watermelons mlﬂ

Sohan ooee

Shyamlal | uooaoe
9000000
“i' 990000000
i 00000000

huh o represents 10 watermelons

How many watermelons were sold by Suresh ?

o Watch Video Solution



https://dl.doubtnut.com/l/_TY9w5ueUfgrr

17. In a village, fruit sellers sold the following

number of watermelons in a particular week.

“Name I Number of waimmelumg sold A

Sohan 'oaee

[ Shyamlal Iooeoo

- 9000000
it 900000000
90000000

Each o represents 10 watermelons

The sellers who have sold 60 or more number

of watermelons are?

o Watch Video Solution



https://dl.doubtnut.com/l/_cKrXFX7rTzMo
https://dl.doubtnut.com/l/_HTy54Y8ZpaY3

18. The weights (in kg) of 22 students of a class
are given below.

44, 46.,42,40, 44, 44, 46, 43, 43, 44, 42, 46, 44,
43,43, 42, 40, 40, 44, 46, 46, 44

Represent the data in tabular form using tally

marks.

o Watch Video Solution

19. The following data shows the number of
students born in different months of a

particular year of class VI. Make the bar graph


https://dl.doubtnut.com/l/_HTy54Y8ZpaY3
https://dl.doubtnut.com/l/_ezyqcjnZ9nqm

based on the given information.

Months Jan | Feb | Mar | Apr | May | June | July | Aug | Sep | Oct | Nov | Dec
No. of studentsbormn | 2 | 0 4 1 2 3 2 1 5 3 2 1

o Watch Video Solution

20. Number of wrist watches manufactured by
a factory in six days of a particular week is

given below.

U510 15 20 25 30 35 40 45 50 55 60 65

Number of wrist watches manufactured ——


https://dl.doubtnut.com/l/_ezyqcjnZ9nqm
https://dl.doubtnut.com/l/_ePwuvwMd9f7z

Read the bar graph and answer the following
questions.

What information does the bar graph gives ?

° Watch Video Solution

21. Number of wrist watches manufactured by
a factory in six days of a particular week is

given below.


https://dl.doubtnut.com/l/_ePwuvwMd9f7z
https://dl.doubtnut.com/l/_awWT5ojP02uR

Scale : 1 division = 5 wrist watches
Saturday | i [ i |

Friday 5 T

Thursday : |

Wednesday [ ]
Tuesday [T
Monday

510 15 2D 25 30 35 40 45 50 55 60 65
Number of wris! watches manufactured ——

Days

Read the bar graph and answer the following
questions.

On which day, the maximum number of wrist
watches were manufactured ? How many wrist

watches were manufactured on that day ?

o Watch Video Solution



https://dl.doubtnut.com/l/_awWT5ojP02uR

22. Number of wrist watches manufactured by
a factory in six days of a particular week is

given below.

Scale : 1 division = 5 wrist watches
Saturday : ]
Friday . |
¢ Thursday |
]
% Wednestay [
Tuesday E
Monday

5 10 15 20 25 30 35 40 45 50 35 60 65
Number of wrist watches manufactured ——

Read the bar graph and answer the following
questions.
On which day, the minimum number of wrist

watches were manufactured ?

S 2000 |


https://dl.doubtnut.com/l/_3rfEJPBkOBJ7

| ¥ Vvatch Video Solution |

23. Number of wrist watches manufactured by
a factory in six days of a particular week is

given below.

U5 10 15 20 25 30 35 4D 45 50 55 60 65

MNumber of wrist watches manulactured ——

Read the bar graph and answer the following

questions.


https://dl.doubtnut.com/l/_3rfEJPBkOBJ7
https://dl.doubtnut.com/l/_NwgwrofyniEC

How many wrist watches were manufactured

on Tuesday ?

° Watch Video Solution

Classes Number of students going to
picnic

I 23
1 i 20
1 23
W i

v__| 0
Vi 15

24.
Observe the table above and calculate total
number of students from class Ill and VI are

going to the picnic.

| = 1


https://dl.doubtnut.com/l/_NwgwrofyniEC
https://dl.doubtnut.com/l/_5hxCzaCW1ag8

I L & Watch Video Solution

25. The given pictograph

represents the

number of students in 5 sections of class VI.

j Section | Number of lhldt:nli '
A COOOe0O
B ©00006066
__C ©0C00LO0
D ©OOCOEOOO
E 00000
Each @ rupmﬂentaﬁ students

Study the given pictograph and answer the

following questions.

How may students are there in section E ?

° Watch Video Solution



https://dl.doubtnut.com/l/_5hxCzaCW1ag8
https://dl.doubtnut.com/l/_UIePfRHXhk5N

26. The given pictograph represents the

number of students in 5 sections of class VI.

| Section :rNumh-Hn[“l-tﬁEEnh

A ©BROGEROO

P 0000000 |

T - A0 o =

__Cc ©oc00000 |
D QOO0 0O00
: 0000000

Each_@} represents 6 students

Study the given pictograph and answer the
following questions.
Find the total number of students in 5

sections of Class VI.

I o Watch Video Solution


https://dl.doubtnut.com/l/_UIePfRHXhk5N
https://dl.doubtnut.com/l/_882qGVPLV660

27. The given pictograph represents the

number of students in 5 sections of class VI.

Section ' Number of students
A ©EeOeRee
B ©0000Eee |
QOO0
_ Q00O OLO
E ©000000

Each ©) represents 6 students

&
D

Study the given pictograph and answer the
following questions.
How many less students are there in section E

than section D ?

| N I


https://dl.doubtnut.com/l/_882qGVPLV660
https://dl.doubtnut.com/l/_UWSgwAisqyo4

| ¥ Watch Video Solution |

28. The given pictograph represents the

number of students in 5 sections of class VI.

" é_t_ﬂiun Number of lhldtnli
A ©000000
B ©G0OCOEGO
c ©60000006
D ©CCCOCO00 |

E OO0

Each @) :uprﬂen_ta 6 students

—

Study the given pictograph and answer the
following questions.

Which section has 48 students ?

o Watch Video Solution



https://dl.doubtnut.com/l/_UWSgwAisqyo4
https://dl.doubtnut.com/l/_unJTV0PVOmXo

29. The given pictograph represents the

number of students in 5 sections of class VI.

—— —p-

Section

A

D
E

|Ei1Lh @- represents 6 students

Nu mhﬂ n! ﬂud.tnll

R

00O |
©OOCREBOO |

00O LCe00 |

QOO0

Study the given pictograph and answer the

following questions.

Find the difference between the number of

students in section E and the total number of

students in section C and D together.


https://dl.doubtnut.com/l/_unJTV0PVOmXo
https://dl.doubtnut.com/l/_mD25gN3ubCtl

o Watch Video Solution

30. In a school library, there are books on the
following subjects : English = 500, History =
700, Maths = 800, Science = 900.

Draw the pictograph for the above numerical
data and answer the following questions.

How many books are there in the school

library ?

o Watch Video Solution



https://dl.doubtnut.com/l/_mD25gN3ubCtl
https://dl.doubtnut.com/l/_OPMuGKhQZFK5
https://dl.doubtnut.com/l/_PoaMCe67lrza

31.In a school library, there are books on the
following subjects : English = 500, History =
700, Maths = 800, Science = 900.

Draw the pictograph for the above numerical
data and answer the following questions.
Which subjects have maximum and minimum

number of books ?

o Watch Video Solution

32. Read the given bar graph, showing the

number of games played by different number


https://dl.doubtnut.com/l/_PoaMCe67lrza
https://dl.doubtnut.com/l/_RxSVzDm0pc2G

of students of a school.

Scale : | division = 20 students

||l

Eﬂ:hﬂﬂﬂhﬂhlﬂ Tennis

Which game is played by the maximum

number of students ?

° Watch Video Solution



https://dl.doubtnut.com/l/_RxSVzDm0pc2G

33. Read the given bar graph, showing the

number of games played by different number
of students of a school.

Scale : 1 division = 20 students

E]m
100
-Eﬂl]

L)
gm
Z 20

0

'Em.'hll Bnhﬂhl.ll Tennis

Which game is played by the minimum

number of students ?

° Watch Video Solution



https://dl.doubtnut.com/l/_gnVf1kNIEgan

34. Read the given bar graph, showing the
number of games played by different number

of students of a school.

AN Scale : 1 division = 20 students

s

Football E:m:k!{ Ilnhﬂhu.ll Tennis

Which game is played by only 120 students ?

° Watch Video Solution



https://dl.doubtnut.com/l/_gnVf1kNIEgan
https://dl.doubtnut.com/l/_wIQAeeQGgLqU

35. Read the given bar graph, showing the
number of games played by different number

of students of a school.

Scale : 1 division = 20 students

g

:I—l-—!
22
L L L |

Mumber of studenis——

2s2E8E

—
—

Football Cricket Basketball Tennis
Cames

How many students play Cricket and Tennis

together ?



https://dl.doubtnut.com/l/_wIQAeeQGgLqU
https://dl.doubtnut.com/l/_xxLvH7r4UGQl

¥ Watch Video Solution ]

36. Draw a bar graph using the data given in

the following table.

Years '_ 2012 | 2013 ]mu |:m5
MNumber of

bikes 500 | 300 m |?m

° Watch Video Solution

Iﬂlﬁ
|

.

37. The following data shows the number of
students who attended the school on

weekdays. Draw a bar graph to represent


https://dl.doubtnut.com/l/_xxLvH7r4UGQl
https://dl.doubtnut.com/l/_WH40wIKmjjEa
https://dl.doubtnut.com/l/_XDGwrRPpGwrH

information by using appropriate scale.

_ Days [Mon|Tue [Wed| Thu[Fri [sat
Number of 750 | 800 1100|850 | 1000950
students J | |

o Watch Video Solution

Ncert Section Exercise 9 1

1. In a Mathematics test, the following marks

were obtained by 40 students. Arrange these


https://dl.doubtnut.com/l/_XDGwrRPpGwrH
https://dl.doubtnut.com/l/_pMB4NNoF5eg8

marks in a table using tally marks.

1 =] &= o8&
= L WO =
Mo kY w1 R
k= «O O LA
O D0 kI s
g On o~ 3

it.n ® U W
|as OB == Ch
| = th R s

o Watch Video Solution

2. In a Mathematics test, the following marks
were obtained by 40 students. Arrange these

marks in a table using tally marks.

8 1 3 7 6 5 85 & 4 2|
4 9 5 3 72 1 &6 5 2 7|
7 3 8B 4 2 B 9 5 B &
7 4 5 6 9 6 4 4 66


https://dl.doubtnut.com/l/_pMB4NNoF5eg8
https://dl.doubtnut.com/l/_fQJy1LZXDLnp

° Watch Video Solution

3. Following is the choice of sweets of 30
students of Class VI.

Ladoo, Barfi, Ladoo, Jalebi, Ladoo, Rasgulla,
Jalebi, Ladoo, Barfi, ,Ladoo, Barfi, Rasgulla,
Ladoo, Jalebi, Jalebi, Rasgulla, Ladoo, Ladoo,
Barfi, Rasgulla, Ladoo, Rasgulla, Rasgulla, Jalebi,
Rasgulla, Ladoo, Rasgulla, Jalebi, Jalebi, Ladoo.
Arrange the names of sweets in a table using

tally marks.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_fQJy1LZXDLnp
https://dl.doubtnut.com/l/_ELJyv9k6t3tf

4. Following is the choice of sweets of 30
students of Class VI. Ladoo, Barfi, Ladoo, Jalebi,
Ladoo, Rasgulla, Jalebi, Ladoo, Barfi, Rasgulla,
Ladoo, Jalebi, Jalebi, Rasgulla, Ladoo, Rasgulla,
Jalebi, Ladoo, Rasgulla, Ladoo, Ladoo, Barf,

Rasgulla, Ras

° Watch Video Solution



https://dl.doubtnut.com/l/_ELJyv9k6t3tf
https://dl.doubtnut.com/l/_Eb8TNVV7HsNI

5. Catherine threw a dice 40 times and noted

the number appearing each time as shown

below :
1 3 5 6 6 3 5 4 1 6|
2 5§ 3 4 6 1 8 8 61
1 2 2 3 8 2 4 8% 8§ &
Al s 2 bei et

Make a table and enter the data using tally
marks. Find the number that appeared the

minimum number of times.

o Watch Video Solution



https://dl.doubtnut.com/l/_Tw8jBWu5tAHn

6. Catherine threw a dice 40 times and noted

the number appearing each time as shown

below :

1 3 85 6 6 3 5 4 1 6]
2 5 3 4 6 18 B &1
1 2 2 3 83 2 4 8 85§
£ 1 6 2 38 1 4.1 38

Make a table and enter the data using tally
marks. Find the number that appeared the

maximum number of times.

o Watch Video Solution



https://dl.doubtnut.com/l/_PtbB7CAXwzXH

7. Catherine threw a dice 40 times and noted

the number appearing each time as shown

below :

1 35 6 6 3 58 4 1 6
7 5 3 4 6 155 6 1|
1 2 2 3 8 2 4 8 8§
5 1 6 2 3% 3 4.1 38

Make a table and enter the data using tally
marks. Find the number that appeared.
Find those numbers that appear an equal

number of times.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZrXHW5bbZZmv
https://dl.doubtnut.com/l/_d8narTWS8PQL

8. Following pictograph shows the number of

tractors in five villages.

I\"illlgﬂ Number of tractors @4 -1 Tractor
Village A ol o8 4 o N o

e B o ol o o

e C o 00 o e e
e D o N o

e E o o o o

Observe the pictograph and answer the
following questions.
Which village has the minimum number of

tractors ?

o Watch Video Solution



https://dl.doubtnut.com/l/_d8narTWS8PQL

9. Following pictograph shows the number of

tractors in five villages.

Villages Number of tractors @41 Tractor
Village A L O B B B O

e B od o 8 i o

e C i 0% N O o o
e [ ¥ 0N

ige E LB B B

Observe the pictograph and answer the
following questions.
Which village has the maximum number of

tractors.

o Watch Video Solution



https://dl.doubtnut.com/l/_8BxZmfMmEM2S

10. Following pictograph shows the number of

tractors in five villages.

.Villngﬂ Number of tractors @4 -1 Tractor
Willage A [ LB B

e B oF o e N

e C o o4 od o9 o4 o o4 o
ige 1 o 0N

ige E [

Observe the pictograph and answer the
following questions.
How many more tractors village C has a

compared to village B ?

I ﬂ Watch Video Solution l


https://dl.doubtnut.com/l/_8BxZmfMmEM2S
https://dl.doubtnut.com/l/_MdQ40X6zwmZy

11. Following pictograph shows the number of

tractors in five villages.

_\"illngﬁ Number of tractors @4 -1 Tractor
Village A LB B

e B oF ol o W i

e 8 09 F O oo
i [ (U

iR E 4 4 0 e

Observe the pictograph and answer the
following questions.
What is the total number of tractors in all the

five villages ?


https://dl.doubtnut.com/l/_MdQ40X6zwmZy
https://dl.doubtnut.com/l/_FgNNh7gt7c5C

° Watch Video Solution

12. The number of girl students in each class of

a co-educational middle school is depicted by

the pictograph.
Classes  Number of girl students  ¥1- 4 Girls |
I I N L 4‘
11 uf“l ¥ 1y y !
M % ¢ ¢ -
AY Y1 ¢ ¢ 'S _
| v eay _
Vi i o1 ¢ g
Vil ¥1 1
VIl ﬂ "

Observe this pictograph and answer the

following questions :


https://dl.doubtnut.com/l/_FgNNh7gt7c5C
https://dl.doubtnut.com/l/_9oFo0xrKnk7P

Which class has the minimum number of girl

students ?

° Watch Video Solution

13. The number of girl students in each class of

a co-educational middle school is depicted by

the pictograph.

Classes  Number of girl students -4 l'.:;.i rls
1 I l"‘l;"l 'ﬁ__ |
1] 1 1 ¢y 1 g

1 i oy O L ¢

IV ¥y N =
v Lo e I

VI ¥ 3t

T ﬁ ¥ oy -
Vil iy i


https://dl.doubtnut.com/l/_9oFo0xrKnk7P
https://dl.doubtnut.com/l/_jfFQlbjaRCPB

Observe this pictograph and answer the
following questions :
Is the number of girls in Class VI less than the

number of girls in Class V ?

° Watch Video Solution

14. The number of girl students in each class
of a co-educational middle school is depicted

by the pictograph.


https://dl.doubtnut.com/l/_jfFQlbjaRCPB
https://dl.doubtnut.com/l/_VOn1JXoDccKb

Classes  Number of girl students  ¢"1- 4 Girls

1 ¥ ¢ ¢ g R |
I W
M ¥ ¢ ¢ |
\Y LA S |
Voo 1
VI Y1 ¢ ¢ g )

- VIl ot

} Vil if?-’lu’”__

Observe this pictograph and answer the
following questions :

How many girls are there in Class VIl ?

o Watch Video Solution

15. The sale of electric bulbs on different days

of week is shown below :


https://dl.doubtnut.com/l/_VOn1JXoDccKb
https://dl.doubtnut.com/l/_Ezxin1uTubu1

Days Number of electric bulbs @-: |

[ Mondy BB O |
- Tuesday f!hc!:-r.!hc!:c!bt!bét!h |
Wednesday & & & &

Tundy & & & & &

iy SBOBSS S
Saurday & & & &

iy 55858885888 |

Observe the pictograph and answer the
following questions :

How many bubls were sold on Friday ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Ezxin1uTubu1

16. The sale of electric bulbs on different days

of week is shown below :

=S

Days Number of electric bulbs b-:hl.hl
oty $E S S & &
ey BB858888
 Wednesday &8 é} fE:

Thursday (5@@(5(5 -
| ray BOHHBHS

saurdsy & & & &
snday HOBSL5HE88

[

4

==

Observe the pictograph and answer the
following questions :

On which day were the maximum number of

bulbs sold ?

I o Wiak hh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_orfH8MBQKvUE

VVCILLIL VI INAGINIE L J)

17. The sale of electric bulbs on different days

of week is shown below :

“ ':_ny- Nimbuuhhﬂrhhulh t!r‘ |

| Monday 586888 8
iy 888558588
[ Wednadty & & &
Thursday 5@@&@
ay 8558588
Saurday & & & & —
sundey 5665466846846 8

Observe the pictograph and answer the

following questions :


https://dl.doubtnut.com/l/_orfH8MBQKvUE
https://dl.doubtnut.com/l/_NIfWMEBMlK81

On which of the days same number of bulbs

were sold ?

° Watch Video Solution

18. The sale of electric bulbs on different days

of week is shown below :

_'mn.y- thuﬂthﬂrhhlh :_’J" |
Moty BEBEE S

Lj@rﬁﬁéééééé_

ity 36 &

Mundsy & & & & &
fidy &£8686868688
saurday & & & &

sy BBBEE8888



https://dl.doubtnut.com/l/_NIfWMEBMlK81
https://dl.doubtnut.com/l/_pchaiZbbGK8w

Observe the pictograph and answer the
following questions :
On which of the days minimum number of

bulbs were sold ?

° Watch Video Solution

19. The sale of electric bulbs on different days

of week is shown below :


https://dl.doubtnut.com/l/_pchaiZbbGK8w
https://dl.doubtnut.com/l/_JNIwQGtwS6E8

"mmummmmm"@ |
Mondy B &BHSS S
Tuesdsy H5 65558688
| Wednesday & & & &
Thursday @é@éé}g
fidy 5868686888
saurday & & & &
mmréé&ééé@é@

Observe the pictograph and answer the
following questions :
If one big carton can hold 9 bulbs. How many

cartons were needed in the given weel ?

° Watch Video Solution



https://dl.doubtnut.com/l/_JNIwQGtwS6E8

20. In a village six fruit merchants sold the
following number of fruit baskets in a

particular season :

Mame ol Mumber af fruit ﬁ-l[l.‘r!’-ruit.-
frult merchants baskeis baskets
Raklm ﬁ ﬁ 'ﬁ ,ﬂ

Lakhanpal YL X L
Anwar et e6 8
Martin ?ﬁﬁﬁﬂﬁﬂﬂﬂ

RanjitSingh @ B & H S 6 6 &
Joseph 06 a6 a4

Observe this pictograph and answer the
following questions :
Which merchant sold the maximum number of

baskets ?

e |


https://dl.doubtnut.com/l/_4mCifi1gx5Uw

| W vvalch Viaeo solution |

21. In a village six fruit merchants sold the
following number of fruit baskets in a

particular season :

Mame of Mumber of fruit ‘-lmfruit-
fruit merchants Paskets baskets
Rahlm ﬁ ﬂ n ﬂ

Lakhanpal X' 'L 'R L
Y Y XYY
Martin ?ﬁﬁﬁﬂﬂﬂﬂﬂ

RanjitSingh DD HH L6 6 B
Joseph D0 6as

Observe this pictograph and answer the
following questions :

How many fruit baskets were sold by Anwar ?


https://dl.doubtnut.com/l/_4mCifi1gx5Uw
https://dl.doubtnut.com/l/_3fFwEM2KEwqB

° Watch Video Solution

22. In a village six fruit merchants sold the
following number of fruit baskets in a

particular season :

Mame of Mumber of Fruit ‘-l[l.'rf'ruit'
frult merchants baskets baskets
Rahlm n ,ﬂ n ﬂ

Lakhanpal 'Y I
AIH\.’M 06006 6 _
Martin 'ﬁﬁﬁﬁﬁﬂﬁﬂn

RanjitSingh & ) 6 6 6 € &
Joseph a0 ed

Observe this pictograph and answer the

following questions :


https://dl.doubtnut.com/l/_3fFwEM2KEwqB
https://dl.doubtnut.com/l/_uE9EhQu0vK7k

The merchants who have sold 600 or more
number of baskets are planning to buy a
godown for the next season. Can you name

them ?

° Watch Video Solution

Ncert Section Exercise 9 2

1. Total number of animals in five villages are

as follows :


https://dl.doubtnut.com/l/_uE9EhQu0vK7k
https://dl.doubtnut.com/l/_DqOogT7Ma1GJ

Village A : 80 Village B : 120
Village C: 90 Village D : 40
Village E : 60

Prepare a pictograph of these animals using

&

one symbol to represent to animals
and answer the following questions :

How many symbols represent animals of

village E ?

o Watch Video Solution



https://dl.doubtnut.com/l/_DqOogT7Ma1GJ

2. Total number of animals in five villages are

as follows :

Village A : 80 Village B : 120
Village C: 90 Village D : 40
Village E : 60

Prepare a pictograph of these animals using

&

one symbol to represent to animals
and answer the following questions :
Which village has the maximum number of

animals ?

o Watch Video Solution



https://dl.doubtnut.com/l/_EebM4KyJwhsQ

3. Total number of animals in five villages are

as follows :

Village A : 80 Village B : 120
Village C: 90 Village D : 40
Village E : 60

Prepare a pictograph of these animals using

one symbol to represent to animals
and answer the following questions :
Which village has more animals : village A or

village C ?

o Watch Video Solution



https://dl.doubtnut.com/l/_7W4VzU99Z3FU

4. The given bar graph shows the sale of
different brands of shirts in a shop in one

month.

T:":l-
iel
1ol

ga?.

L S T |
Hrands

Find the ratio of number of shirts sold of
brand S to the number of shirts sold or brand
P and R together.

{((2),8:9),((b)13:8),((c )11:7),((d)13:6): }


https://dl.doubtnut.com/l/_S2LIIwLbt5R3

° Watch Video Solution

5. Total number of students of a school in

different years is shown in the following table.

Years

Number of students

1996
1998
2000
2002
2004

400
535
472
600
623

Prepare another pictograph of students using
any other symbol each representing 50
students. Which pictograph do you find more

informative ?

l €@ Watch video Solution



https://dl.doubtnut.com/l/_S2LIIwLbt5R3
https://dl.doubtnut.com/l/_AZXjEh3Hlfn0

Ncert Section Exercise 9 3

1. The given bar graph shows the amount of
wheat purchased by government during the

year 1998-2002.

1 unit length = 5 thousand tonnes

e —

[ e

Wheat (in thousand tonnes) —
=g
|

| —



https://dl.doubtnut.com/l/_AZXjEh3Hlfn0
https://dl.doubtnut.com/l/_7DSmuyM3DNPJ

Read the bar graph and write down your
observations. In which year was

the wheat production maximum ?

° Watch Video Solution

2. The given bar graph shows the amount of
wheat purchased by government during the

year 1998-2002.


https://dl.doubtnut.com/l/_7DSmuyM3DNPJ
https://dl.doubtnut.com/l/_506D9noyQYhS

1 unit length = 5 thousand tonnes

s
I
|

[ % ]
T

'ﬂ".ll'lﬁ'
1

Wheat (in thousand tonnes) —:
S &
r 1
|

111

1598 1999 2000 20012002
Years

Read the bar graph and write down your
observations. In which year was

the wheat production minimum ?

° Watch Video Solution



https://dl.doubtnut.com/l/_506D9noyQYhS

3. Observe this bar graph which is showing the
sale of shirts in a ready made shop from

Monday to Saturday.

1 unit length = § shirts

Saturday |

Fridey |
E thurscn )

Wednesday
Tuesday
Manday

Y]]

| | | 7T T "5 F 7T 7T 7T 1T T
0 5 10152025 3035 4045 50 55 &0 65
Mumbser of shirts sold —23

Now answer the following questions :
What information does the above bar graph

give ?

o Watch Video Solution



https://dl.doubtnut.com/l/_evWzV9wjbupz

4. Observe this bar graph which is showing the
sale of shirts in a ready made shop from

Monday to Saturday.

1 undt length = 5 shirts
Saturday J

Friday |
k Thursday ]
Wednesday

Tuesday
Monday

]|

I I | I 1 T 7T 7 T 7T 1T T
0 5 10152025 3035 4045 50 55 6085
Mumiber of shirts sald —

Now answer the following questions :
What is the scale chosen on the horizontal

line representing number of shirts ?



https://dl.doubtnut.com/l/_evWzV9wjbupz
https://dl.doubtnut.com/l/_DNinYwhf7ckp

o Watch Video Solution

5. Observe this bar graph which is showing the
sale of shirts in a ready made shop from

Monday to Saturday.

1 wndt length = 5 shirts
Saturday ]

Friday |
E'Thuudﬂ |
Wednesday

Tuesday
Monday

T0f

| | | T T 7T ¥ 7T 7T 17T 1T T
0 5 10152025 30 15 4045 50 55 40 85
Mumbser of shirts sald —»

Now answer the following questions :

On which day were the maximum number of


https://dl.doubtnut.com/l/_DNinYwhf7ckp
https://dl.doubtnut.com/l/_jcl5C5Vc01OQ

shirts sold ? How many shirts were sold on

that day ?

o View Text Solution

6. Observe this bar graph which is showing the
sale of shirts in a ready made shop from

Monday to Saturday.

1 undt length = 5 shirts

Saturday |

Pridey |
5 thursdoy )

Wednesday
Tuesday
Manday

i

| LI 17 7T 8 F T F 7 1T T
0 5 10152025 3015 4045 50 55 60 &5
Mumber of shirts sobd —3»


https://dl.doubtnut.com/l/_jcl5C5Vc01OQ
https://dl.doubtnut.com/l/_ms3RNF5GZv32

Now answer the following questions :
On which day were the minimum number of

shirts sold ?

° Watch Video Solution

7. Observe this bar graph which is showing the
sale of shirts in a ready made shop from

Monday to Saturday.


https://dl.doubtnut.com/l/_ms3RNF5GZv32
https://dl.doubtnut.com/l/_UCfxpw9zLRV2

1 urit bength = 5 shirts
Saturday |

Friday |

f Thursday |
Wednesday
Tuesday
Manday

Y]]

| I | T T 7T 7T 7T T T T 17T 1T
@ 5 10152025 3035 4045 50 55 &0 65
Mumber of shirts sobd —

Now answer the following questions :

How many shirts were sold on Thursday ?

o Watch Video Solution

8. Observe this bar graph which shows the
marks obtained by Aziz in half-yearly

examination in different subjects.


https://dl.doubtnut.com/l/_UCfxpw9zLRV2
https://dl.doubtnut.com/l/_mEo6GOtrOwfF

1 unit length = 10 marks

' - il g
) ] ) 1

Marks —>
EESEZ2IES
]

Tl 8

Subrjects

Answer the given questions.

What information does the bar graph give ?

o Watch Video Solution

9. Observe this bar graph which shows the
marks obtained by Aziz in half-yearly

examination in different subjects.


https://dl.doubtnut.com/l/_mEo6GOtrOwfF
https://dl.doubtnut.com/l/_Hb9dOLFoxKEA

1 unit length = 10 marks

Marks —»
EEEEEZTAIRS

R R

Subjects

Answer the given questions.
Name the subject in which Aziz scored

maximum marks.

o Watch Video Solution



https://dl.doubtnut.com/l/_Hb9dOLFoxKEA

10. Observe this bar graph which shows the
marks obtained by Aziz in half-yearly

examination in different subjects.

1 unit length = 10 marks

i | =k il 4
L] 1 1 1 1

Marks —3»

BEZB AT S
1

1l

Subijects

EE
Hindi

Answer the given questions.
Name the subject in which he has scored

minimum marks.

o Watch Video Solution



https://dl.doubtnut.com/l/_ihFkokdfyiwf

11. Observe this bar graph which shows the
marks obtained by Aziz in half-yearly

examination in different subjects.

1 unit length = 10 marks

Marks —»
EEEEZTHES
|

|

Subijects

Hindi

Answer the given questions.
State the name of the subjects and marks

obtained in each of them.



https://dl.doubtnut.com/l/_ihFkokdfyiwf
https://dl.doubtnut.com/l/_BEIJUF7bq4GX

I o Watch Video Solution

Ncert Section Exercise 9 4

1. A survey of 120 school students was done to

find which activity they prefer to do in their

free time.

Preferred activity | Number of students
Paying 45

Reading story 30

books

Waltching TV 20
Listening to 10

music

Painting 15



https://dl.doubtnut.com/l/_BEIJUF7bq4GX
https://dl.doubtnut.com/l/_GRcPnRmFwhoD

Draw a bar graph to illustrate the above data

taking scale of 1 unit length =5 students.

O Watch Video Solution

2. The number of Mathematics books sold by a
shopkeeper on six consecutive days is shown

below :

| Days | Sun- | Mon- | Tues- | Wednes- ‘I'hurr-1FrlT:h;:

 S—

Draw a bar graph to represent the above

information choosing the scale of your choice.


https://dl.doubtnut.com/l/_GRcPnRmFwhoD
https://dl.doubtnut.com/l/_QYSW1K2U3op2

o Watch Video Solution

3. Following table shows the number of
bicycles manufactured in a factory during the
years 1998 to 2002. lllustrate this data using a

bar graph. Choose a scale of your choice.

Years Number of bicycles
manufactured
1998 BOD
199 s o]
2000 900 ;
2001 1100 !
2002 1200 |

In which year were the maximum number of

bicycles manufactured ?

| e |


https://dl.doubtnut.com/l/_QYSW1K2U3op2
https://dl.doubtnut.com/l/_DZ1xhw4WaBPw

& Watch Video Solution I

4. Following table shows the number of
bicycles manufactured in a factory during the
years 1998 to 2002. lllustrate this data using a

bar graph. Choose a scale of your choice.

Years Number of bicycles
manufactured
1998 800
1999 B . . SR
2001 1100 !
2002 1200 |

In which year were the minimum number of

bicycles manufactured ?

l o Watch Video Solution


https://dl.doubtnut.com/l/_DZ1xhw4WaBPw
https://dl.doubtnut.com/l/_3zs5XIvtPzMU

Exercise Multiple Choice Questions Level 1

1. In the data 18, 13, 15, 13, 18, 14, 15, 13, 14, 15,

how many times the number '15' repeats itself?

A2

B.1

C.3

D. 4


https://dl.doubtnut.com/l/_3zs5XIvtPzMU
https://dl.doubtnut.com/l/_QT23wlB7n5Zo

Answer: C

o Watch Video Solution

2. Collection of numbers to give some

information is called

A. Data

B. Tally marks

C. Bar graph

D. Pictograph


https://dl.doubtnut.com/l/_QT23wlB7n5Zo
https://dl.doubtnut.com/l/_2Jiqaa1NW8LN

Answer: A

o Watch Video Solution

3. Representation of data in tabular form is

done by using :

A. Bar graph

B. Frequency

C. Tally marks

D. None of these


https://dl.doubtnut.com/l/_2Jiqaa1NW8LN
https://dl.doubtnut.com/l/_qdVZMspAuU5N

Answer: C

o Watch Video Solution

4. In a survey of 12 families, each family is
found to have the following number of
children.

3,14,1,2,2,3,1,2,2,3,3

Number of families with 2 children is equal to

number of families with

A. 1 child


https://dl.doubtnut.com/l/_qdVZMspAuU5N
https://dl.doubtnut.com/l/_ImZVAPhCqq5W

B. 3 children

C. 4 children

D. None of these

Answer: B

o Watch Video Solution

5. Data obtained in the original form is called

A. Bar graph


https://dl.doubtnut.com/l/_ImZVAPhCqq5W
https://dl.doubtnut.com/l/_Ci19GAKAeLr1

B. Pie chart

C. Raw data

D. Observation

Answer: C

o Watch Video Solution

6. The choices of the fruits of 42 students in a
class are as follows:
A7O7B7M7A7G7B7G7A7G7

B,M,A G, M, A, B G, M,B,


https://dl.doubtnut.com/l/_Ci19GAKAeLr1
https://dl.doubtnut.com/l/_iXC26fNa7G9N

AO,M,0,G,B,0,M,G,A,

A, B,M,O,M,G,B,A, M, O, M, O,
Where A, B, G, M and O stand for the fruits
Apple, Banana, Grapes, Mango and Orange
respectively.

Which two fruits are liked by an equal number

of students?

A.Aand M

B.M and B

C.Band O

D.Band G


https://dl.doubtnut.com/l/_iXC26fNa7G9N

Answer: D

o Watch Video Solution

7. A survey was carried out by the principal of a
school to find the favourite subject of middle
school students. The results of the survey is

shown in the pictograph.


https://dl.doubtnut.com/l/_iXC26fNa7G9N
https://dl.doubtnut.com/l/_JtvxcyS01AIj

Favourite
Subject

—D $ 9 0 0§
saence | PXX
sudis | X XA
wgn | PRRRRRR
Hindi ??

Euh?repreuntlﬁmdmh.

No. of students

How many more students like English than

Science?

A.15

B. 20

C.35


https://dl.doubtnut.com/l/_JtvxcyS01AIj

D. 30

Answer: B

o Watch Video Solution

8. Following is the pictrograph of different

kinds of trees in a garden.

- Type of trees | Number of trees _

| SOSSSSRN
Coconul trees *"#

| Banana trees | TR AR AR @

Each Q represents 10 trees.

Find the total number of trees in the garden.


https://dl.doubtnut.com/l/_JtvxcyS01AIj
https://dl.doubtnut.com/l/_q789dkSRA4kJ

A. 120

B. 140

C.130

D. 150

Answer: D

° Watch Video Solution

9. Following is the pictrograph of different

kinds of trees in a garden.


https://dl.doubtnut.com/l/_q789dkSRA4kJ
https://dl.doubtnut.com/l/_YrzOpZ9QJgmT

Type of trees Humlu-r of ‘I'I'I'H

Mango trees MQM“Q
| Coconut trees ,- ’ #

— = = e e

| Banana trees ’ ’I " ’

Each ’ represents 10 trees.

The number of mango trees is

the number of banana trees.

A. Ten

B. Two

C. Four

D. Three

Answer: B


https://dl.doubtnut.com/l/_YrzOpZ9QJgmT

° Watch Video Solution

10. Following is the pictrograph of different

kinds of trees in a garden..

-T:"'pt of trees | Number of trees

Mango trees ""m*
Coconut h'ﬁ.ﬁ_ * " ‘I

| Banana trees | TR R

Each ‘ represents 10 trees.

-

What is the difference between the number of

mango trees and the number of banana trees?

A.40


https://dl.doubtnut.com/l/_YrzOpZ9QJgmT
https://dl.doubtnut.com/l/_fUgYrz41YkFx

B.30

C. 80

D. 60

Answer: A

o Watch Video Solution

1. The representation of data with bars of

uniform width is called

A. Bar graph


https://dl.doubtnut.com/l/_fUgYrz41YkFx
https://dl.doubtnut.com/l/_KGK2bi9r9he3

B. Pictograph

C. Tally marks

D. None of these

Answer: A

o Watch Video Solution

12. Data collected from sources like internet,

magazines etc. is called

A. Secondary Data


https://dl.doubtnut.com/l/_KGK2bi9r9he3
https://dl.doubtnut.com/l/_bTgyCVUGvdwY

B. Primary Data

C. Tally marks

D. Frequency

Answer: A

o Watch Video Solution

13. The given pictograph shows the number of

girls in class X-XII.


https://dl.doubtnut.com/l/_bTgyCVUGvdwY
https://dl.doubtnut.com/l/_YspoA7YlcXZ7

(Class | Number of girls
i e Eo Fu |
" o Fu K
- -7
Each £Y¥ represents 10 girls

There are girls in class X-XII.

A. 120

B. 125

C.50

D. 85

Answer: D



https://dl.doubtnut.com/l/_YspoA7YlcXZ7

\ ° Watch Video Solution

14. The given bar graph shows the number of

cars sold from Jan to Dec.

BN

lan Feb Mar Agpr “l] 'I=1-| lal  Aug Ol BMow e

How many cars were sold in the last quarter of

the year?

A. 280


https://dl.doubtnut.com/l/_YspoA7YlcXZ7
https://dl.doubtnut.com/l/_cEegFIVyOdhQ

B. 130

C. 140

D. 105

Answer: D

o Watch Video Solution

15. The given data shows the number of boys

in classes V to X of a school.


https://dl.doubtnut.com/l/_cEegFIVyOdhQ
https://dl.doubtnut.com/l/_hyVisSLiq9IC

Class

Vi

Vil
VIl

X

Number of boys
I |
LR

W

LBl

M

What is the difference between the number of

boys in class VI and class IX?

A

B.lll

C.||


https://dl.doubtnut.com/l/_hyVisSLiq9IC

Answer: A

o Watch Video Solution

16. The presentation of data in the form of

pictures is called

A.Bar graph

B. Pictograph

C. Tally marks


https://dl.doubtnut.com/l/_hyVisSLiq9IC
https://dl.doubtnut.com/l/_KQLtOiyFw9Va

D. None of these

Answer: B

° Watch Video Solution

17. The number of times an observation is

repeated in a data is called

A. Frequency

B. Sample

C. Bar Graphs


https://dl.doubtnut.com/l/_KQLtOiyFw9Va
https://dl.doubtnut.com/l/_cQ8rs3pgXrcM

D. None of these

Answer: A

o Watch Video Solution

18. The bar graph shows the temperatures in 6

cities.
1%,
42
g1 s & &
£ 304
&
2 20- -
E. 12
Iﬂ_ i
E )
<



https://dl.doubtnut.com/l/_cQ8rs3pgXrcM
https://dl.doubtnut.com/l/_PdnghtJ1J3IP

The difference between the maximum and the

minimum temperature is

A.28°C

B.35°C

C.37°C

D.30°C

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_PdnghtJ1J3IP

19. The bar graph shows the temperatures in 6

cities.

T

42

L.

B 3 o

£ 5

18

Temperature {(in "C) —

= = B
| I |

A B C D E F
Cihes

The number of cities whose temperatures are
between 30°C to 40°C is

A2

B.3


https://dl.doubtnut.com/l/_v9jcxzwLShxH

C.4

D.6

Answer: B

° Watch Video Solution

20.The bar graph shows the temperatures in 6

cities.


https://dl.doubtnut.com/l/_v9jcxzwLShxH
https://dl.doubtnut.com/l/_cYoIiftZJZjJ

£ 5 2

: 2

Temperature {in "C) —

=

42
B 36 L
12 15
A B C D E F
Cihies

If a place with temperature equal to or above

35°C

is considered to be hot, then the

number of cold places is

Al

B.2

C.4

D.3


https://dl.doubtnut.com/l/_cYoIiftZJZjJ

Answer: B

o Watch Video Solution

21. Production of cars in a factory in different

years is shown below.

Year  [1990 1991 1992 [ 1993 | 1994 |
No. of Cars | 1000 15m am]zm]m

The ratio of production in the year 1990 to

1994 is


https://dl.doubtnut.com/l/_cYoIiftZJZjJ
https://dl.doubtnut.com/l/_vOToEs1zzmfq

B.1:2

C.2:3

D.2:1

Answer: A

o Watch Video Solution

22. The following table shows the number of

chocolates four friends have.


https://dl.doubtnut.com/l/_vOToEs1zzmfq
https://dl.doubtnut.com/l/_e07z3s2zlMO8

Name Hn.qﬁ :h;:nlatn | _

Amit | 10
 Sumit | 10
Ravi | 15
| Shekhar | 18 -

Two friends share the same number of
chocolates. The number of chocolates each of

them has, is

A.10

B.15

C.18

D.O


https://dl.doubtnut.com/l/_e07z3s2zlMO8

Answer: A

o Watch Video Solution

23. Using tally marks, which one of the

following represents the number eight:


https://dl.doubtnut.com/l/_e07z3s2zlMO8
https://dl.doubtnut.com/l/_bvSgdrThNLo6

Answer: D

o Watch Video Solution

24. Following information shows different type

of soap used by children.

Soap Tally Marks |
Pears rHd 1]
i Lux H_IHI M
| Dove THI THY TH
Nivea 1

Which soap is used by 9 children?


https://dl.doubtnut.com/l/_bvSgdrThNLo6
https://dl.doubtnut.com/l/_G2PnSU0XWajg

A. Dove

B. Lux

C. Nivea

D. Pears

Answer: C

o Watch Video Solution

25. The two bars of the same value are


https://dl.doubtnut.com/l/_G2PnSU0XWajg
https://dl.doubtnut.com/l/_0irFYTTDXG1e

("

A.A and B

B.Band C

C.Cand D

D.Aand C

Answer: D


https://dl.doubtnut.com/l/_0irFYTTDXG1e

o Watch Video Solution

26. Record of the numbers shown on the top

face of a die, rolled 20 times, is shown below:
1,3,56,6,3,5,4,1,6,2,5,1,4,6,1,6,4,1, 1

Which two numbers appear same number of

times?

o Watch Video Solution



https://dl.doubtnut.com/l/_0irFYTTDXG1e
https://dl.doubtnut.com/l/_IRd5giYLIQdR

27. The given bar graph, shows the number of

students in different classes.

z
.

it

vl VIIVIIX X
Classes

MNumber of students —8
BEELR I

=
- -

Arrange the classes in descending order of

student population.

A. VI, VI, VI, 1X, X


https://dl.doubtnut.com/l/_CJNHwQ75DMDf

B. VIII, VII, VI, X, IX

C. VIII, X, VI, VII, IX

D. IX, VII, VI, X, VIII

Answer: C

o Watch Video Solution

28. The given bar graph, shows the number of

students in different classes.


https://dl.doubtnut.com/l/_CJNHwQ75DMDf
https://dl.doubtnut.com/l/_TVFtJHIUDroL

_
+

L
L

EEELR 3

SNumber of students —

vl VI VI IX X
C lasses

==
I

Find the total number of students in the

classes VIl to X.

A. 160

B. 150

C. 155


https://dl.doubtnut.com/l/_TVFtJHIUDroL

D. 145

Answer: C

o Watch Video Solution

29. The given bar graph, shows the number of

students in different classes.


https://dl.doubtnut.com/l/_TVFtJHIUDroL
https://dl.doubtnut.com/l/_0YDtK555bmpQ

E
+

L
L

HEELR

P

i ‘

it 11 |

Vi VIIVIINIX X
s

Sumber of students —=

==
I

How many more students are there in class VIl

than in class IX?

A.35

B. 25

C.30


https://dl.doubtnut.com/l/_0YDtK555bmpQ

D. 55

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_0YDtK555bmpQ

30.

represents

35

pens,

one

then


https://dl.doubtnut.com/l/_chQeh6WAhkfh

o 7S 7S 77
" A A A 4
will
represent
A. 260 pens
B. 280 pens

C. 175 pens

D. 140 pens

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_chQeh6WAhkfh

31. The bar-graph given below shows the runs

scored in six overs by a batsman.

ik -
N

Runs scored —»
O e P Tl e N SN ~] O8O

1 n m v v Vi
Overs ———»

How many more runs were scored in the

second over than in fourth over?

A.8

B.4


https://dl.doubtnut.com/l/_aBMOBxWn4IWG

C.5

D.3

Answer: B

° Watch Video Solution

32. The bar-graph given below shows the runs

scored in six overs by a batsman.


https://dl.doubtnut.com/l/_aBMOBxWn4IWG
https://dl.doubtnut.com/l/_xV5yCdJYagkR

| n m v v Vi
Overs —»

Runs scored —»
= o= b L e N 3 =] 00 WD

What were the total runs scored in the six

overs?

° Watch Video Solution

33. The bar-graph given below shows the runs

scored in six overs by a batsman.


https://dl.doubtnut.com/l/_xV5yCdJYagkR
https://dl.doubtnut.com/l/_MVpAwMildqCD

Runs scored —»
= et d W N3N =] OO0 WD

| n m v v VI
Overs —»

How many overs were there in which less than

3 runs were scored?

o Watch Video Solution

34. The marks obtained by 10 students

Mathematics test are given below:


https://dl.doubtnut.com/l/_MVpAwMildqCD
https://dl.doubtnut.com/l/_voCClmhu12qq

55369573624225787562

How many students got less than 60 marks?

A2

B.3

C.4

D.5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_voCClmhu12qq

35. The marks obtained by 10 students

Mathematics test are given below:
5536 95 73 62 42 25 78 75 62
How many students got 75 or more marks?
Al
B.2

C.3

D.4

Answer: C

‘ o Wiadk~hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_n7iu4Q4zvc9C

VVCILLIL VI IAGINIE L J

Exercise Multiple Choice Questions Level 2

1. The given pictograph shows the number of

pizzas delivered by pizza hut during a week.

-_Dl}_r_q Number of Pizzas
Monday | '_. . !
Tuesday & o

_‘r‘{e_dne-sfia}_f '._ ...
Thursday | O OO @

Friday 00
swrdy | D OPOO®
Sunday SRR AT AT AT AT Y o)

Each . represents 10 pizzas



https://dl.doubtnut.com/l/_n7iu4Q4zvc9C
https://dl.doubtnut.com/l/_dlcGpsiRCWSP

On which day, the number of pizzas delivered

is minimum?

° Watch Video Solution

2. The given pictograph shows the number of

pizzas delivered by pizza hut during a week.

Days Number of Pizzas
Mondsy | @O @
Tuesday '. .

Wednesday | @ @ @ @
Thursdsy | DODO®

Friday BEE
saurdy | DODOOO®
5unda}’ . ... . . .

Each . represents 10 pizzas



https://dl.doubtnut.com/l/_dlcGpsiRCWSP
https://dl.doubtnut.com/l/_EC9rJlLlHhD2

Find the number of pizzas delivered on

Sunday.

° Watch Video Solution

3. The given pictograph shows the number of

animals in 5 different zoos.

Nameof | Number of animal
A PEERER
B FEERPRE
C e K

C LXERE

E FREF

Each & represents 5 animals |

Which of the following statements is correct?


https://dl.doubtnut.com/l/_EC9rJlLlHhD2
https://dl.doubtnut.com/l/_lT19HAvMoIFL

A. Number of animals in zoo A is 10 more

than the number of animals in zoo B.

B. Number of animals in zoo D is equal to

the number of animals in zoo E.

C. Number of animals in zoo C is 18.

D. Number of animals in zoo A is twice the

number of animals in zoo C.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_lT19HAvMoIFL
https://dl.doubtnut.com/l/_6FzYc87Es9N7

4. 0n the scale, 1 unit length =10 crore, the bar

of length 6 units will represent crore.

A. 60

B.6

C.5

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6FzYc87Es9N7
https://dl.doubtnut.com/l/_4nglbMzm76P0

5. The following pictograph shows favourite

ice cream flavours of boys in a colony.

Flavours

Vanilla
Mango
Strawberry

Butterscotch

No. of Boys
cocccece
et
ceee
ceoeee

i Each ™ represents 100 boys.

Which flavour is liked least by the boys?

A. Mango

B. Vanilla

C. Strawberry

D. Butterscotch


https://dl.doubtnut.com/l/_4nglbMzm76P0

Answer: A

o Watch Video Solution

6. The following pictograph shows favourite
ice cream flavours of boys in a colony.
Number of boys liking vanilla flavoured ice

cream are

A. 700

B. 800

C. 500


https://dl.doubtnut.com/l/_4nglbMzm76P0
https://dl.doubtnut.com/l/_7M1IGl7lfdQS

D. 300

Answer: A

o View Text Solution

7.Read the bar graph given below and answer

the following questions.


https://dl.doubtnut.com/l/_7M1IGl7lfdQS
https://dl.doubtnut.com/l/_GJI7ogG0EtZ5

g=
1

HEEELZTIEEE

Production of foodgrains
{in millon tonmes)] ——

o
— =]

|
011 2012 2013 2014 2015
Years - e

What is the ratio of the production of
foodgrains in 2011 to that in 2014?

A 11:13

B.5:11

C.13:11

D.11:5


https://dl.doubtnut.com/l/_GJI7ogG0EtZ5

Answer: C

o Watch Video Solution

8. Read the bar graph given below and answer

the following questions.

[ e i

W11 2012 2013 2014 2015
Years -


https://dl.doubtnut.com/l/_GJI7ogG0EtZ5
https://dl.doubtnut.com/l/_hv5GkzrersmQ

Find the difference between the production of

foodgrains in million tonnes) in the year 2012

and 2015.

A. 80

B.40

C. 20

D. 30

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hv5GkzrersmQ
https://dl.doubtnut.com/l/_EscXQyYSKvF2

9. The following pictograph shows the sale of

cars of different colours in a showroom.

_Cuinur' Number of cars

Red [T —

Black iy i i f i - -

White

s _ale ala ala ¥ o

Gray | i S S

Blue | gl
Each e represents 50 cars,

How many less blue cars were sold than red

and gray cars together?

A.300

B. 250


https://dl.doubtnut.com/l/_EscXQyYSKvF2

C. 200

D. 150

Answer: B

° Watch Video Solution

10. The following pictograph shows the sale of

cars of different colours in a showroom.

ilCnimtr: Number of cars
; R.t.'ﬂi T o =

Black | i iy i i iy s s

I White | s, imes i s S


https://dl.doubtnut.com/l/_EscXQyYSKvF2
https://dl.doubtnut.com/l/_GiGYbuyYgsra

(Gray | s i S S
Bluc |l Al

; Each ﬁ represents .':'Il.'l_u:ﬂ s,

The ratio of white cars to black cars sold is

A 4:5
B.5:7
C.3:5

D.3:7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_GiGYbuyYgsra
https://dl.doubtnut.com/l/_UJcOZFupPGBI

11. Look at the bar graph and answer the

following questions.

LB S
T LE -y
i 14—
A5 —
¥
£ s
. 4 reey
'E 15+ r
o 110+
5 -
II | |
U am Peb Mar  Apr May  Jun -
hlomiths

In which month 40 bicycles were sold?

A. January

B. February


https://dl.doubtnut.com/l/_UJcOZFupPGBI

C. April

D. May

Answer: A

° Watch Video Solution

12. Look at the bar graph and answer the

following questions.


https://dl.doubtnut.com/l/_UJcOZFupPGBI
https://dl.doubtnut.com/l/_WFtn9DVknWX8

451 -
T
1 L

i

LT

T jan Feb  Mar  Apr May un
hdomths

How many less bicycles sold in June than in

March?

A. 28

B.30

C.40

D. 25


https://dl.doubtnut.com/l/_WFtn9DVknWX8

Answer: D

o Watch Video Solution

13. Observe the bar graph and answer the

following questions.

ALk

oo
IR

Faliteal parties

Which two political parties won the same

number of seats?


https://dl.doubtnut.com/l/_WFtn9DVknWX8
https://dl.doubtnut.com/l/_qpRJLFLoyRYD

A.C,D

B.C,E

C.D,E

D.B,D

Answer: A

o Watch Video Solution

14. Observe the bar graph and answer the

following questions.


https://dl.doubtnut.com/l/_qpRJLFLoyRYD
https://dl.doubtnut.com/l/_ftAhZ8FyZzGG

ALk

}m |

|

. |
YTTTTTTTE T T
Falitwal parties

What is the total number of seats won by
party A and party B?
A.70
B. 20
C.30

D. 40

Answer: A


https://dl.doubtnut.com/l/_ftAhZ8FyZzGG

° Watch Video Solution

15. Observe the following pictograph and

answer the following questions.

 Blood group _iiu;lruhi;ldmh |
" 000
S . e 1 T
o QOO
AB &

Bach @ reprovonts Jotudonts.

The ratio of the frequencies of blood group AB

to blood group O is


https://dl.doubtnut.com/l/_ftAhZ8FyZzGG
https://dl.doubtnut.com/l/_vCu7D2A7JCAB

Al:4

B.1:3

C.2:3

D.3:4

Answer: A

° Watch Video Solution

16. Observe the following pictograph and

answer the following questions.


https://dl.doubtnut.com/l/_vCu7D2A7JCAB
https://dl.doubtnut.com/l/_j0y6y32arqWb

 Blood group | Number of students
Rl
e
0 LROY
AB @
Each @ represents 3 students. ;

The ratio of the frequencies of blood group A

to blood group B is

Al:3

B.2:3

C.3:2

D.1:2


https://dl.doubtnut.com/l/_j0y6y32arqWb

Answer: C

o Watch Video Solution

Exercise Match The Following


https://dl.doubtnut.com/l/_j0y6y32arqWb

1. Match the following

(P

(Q)

(R)

()

List-1

If ® represents 3 flowers,

then % %% represents

Aowiers,

* & A represents 45 stars,

then ™ % & % % represents
slars.

Q * represents 20 trees,
then ’I\'pl‘l‘ﬂ"l‘ll‘ﬁ

trees.

¥ represents 5 girls, then

¥ ¥ ¥ ¥ represents

girls.

.P-1,Q-2, R-3, S-4

. P-3,0-1,R-2,5-4

.P-4,Q-3,R-2, S-1

.P-1,Q-3, R4, S-2

List-11
1. 75

2. 10

4. 0


https://dl.doubtnut.com/l/_aABcMokeDMpx

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_aABcMokeDMpx

2. Study the bar graph and match the lists.

[ ] B
= wn
i i

5z
5 F15-
E 3
|= =
L~ g5 5 E :
0 C olours
List-1 List-11

(" Total number of cars inthe 1. Blue
parking lot is

() Mumber of cars which are
blue in colour is

(R} The least common colour 1 65
among the cars 15

(%) The most common colour 4
among the cars 1s

!-_I

15

A.P-2, Q-3, R-1, S-4

B. P-1, Q-2, R-3,5-4


https://dl.doubtnut.com/l/_VkzcAlIzsEKW

C.P-4,Q-3,R-2, 51

D.P-3,Q-2, R-4, S-1

Answer: D

° Watch Video Solution

Exercise Assertion Reason Type

1. Assertion : Consider the marks scored by 10

students in a test. 10,9, 9, 8, 2, 8, 2, 8, 8, 7. The

frequency of 8 in the data is 4.


https://dl.doubtnut.com/l/_VkzcAlIzsEKW
https://dl.doubtnut.com/l/_jBWJ0d55874u

Reason : 8 occurs 4 times in the data. So, its

frequency is 4.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.


https://dl.doubtnut.com/l/_jBWJ0d55874u

Answer: A

° Watch Video Solution

2. Assertion : Raw data should be arranged in
tabular form for its representation.
Reason : Representation through bar graph

and pictograph is less efficient or organised.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.


https://dl.doubtnut.com/l/_jBWJ0d55874u
https://dl.doubtnut.com/l/_lSElM1o0hMHu

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lSElM1o0hMHu

3. The number of two-wheelers owned by each

of 45 families are listed below.

No. of Tally marks }
two-wheelers
0 o I8 J
g1l ‘_ LT 4
2 | NI W1 |
3 ! M 1
4 | i

Assertion: The number of families having 3
two-wheelers is 9.
Reason : 9 is represented as M Il

A.If both assertion and reason are true

and reason is the correct explanation of


https://dl.doubtnut.com/l/_FlioMBiFE1GD

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FlioMBiFE1GD

4. The pictograph shows the number of

computers sold by a company during a week.

The scale used: = 6 computers

S

~ = s
===
Wednesday
e | DHEHOEE
| JSEE
Saturday

Look at the ptctograph and answer the
question given bwlow.

How many computers were sold on Friday ?
How many computers were sold on Monday ?

How many computers were sold during the


https://dl.doubtnut.com/l/_YZqNmI0Dhl80

week ?

On which day was the sale maximum ?

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.


https://dl.doubtnut.com/l/_YZqNmI0Dhl80

Answer: B

o Watch Video Solution

5. 51 students from a locality use different
modes of transport to go to school as shown

by the bar graph given below.


https://dl.doubtnut.com/l/_YZqNmI0Dhl80
https://dl.doubtnut.com/l/_ShGoN16A6L5F

ﬁ‘
Z 4
24
0
Car Bus  Moped Bicycle Rickshaw
Mode ol transport
Assertion : Bicycle is used by maximum

number of students.
Reason : Height of bar corresponding to
bicycle is maximum. So, most students use

bicycle to go to school.


https://dl.doubtnut.com/l/_ShGoN16A6L5F

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ShGoN16A6L5F

Exercise Comprehension Type

1. The given bar graph shows the heights of

different buildings.


https://dl.doubtnut.com/l/_ShGoN16A6L5F
https://dl.doubtnut.com/l/_PA8R2eY6MYw3

5 & & &

g

Height (in metres) —3

=
=
i

74 B ¢ D
Buildings

The building that is 50 m tall is

A.B
B.A
C.D

D.C


https://dl.doubtnut.com/l/_PA8R2eY6MYw3

Answer: C

o Watch Video Solution

2. The given bar graph shows the heights of

different buildings.


https://dl.doubtnut.com/l/_PA8R2eY6MYw3
https://dl.doubtnut.com/l/_l0BktgTQyYwo

8 2 &8 £ £

Height (in metres) —

=
L=}
1

A B - D

Buildings

-

What is the height of building C ?

A.50m
B.60 m
C.20m

D.30m


https://dl.doubtnut.com/l/_l0BktgTQyYwo

Answer: B

o Watch Video Solution

3. The given bar graph shows the heights of

different buildings.


https://dl.doubtnut.com/l/_l0BktgTQyYwo
https://dl.doubtnut.com/l/_zurlGwmBxn9A

z

E £

Height (in metres)] —
2 =

-1
[
S
1

A B S &
Buildings

=

How much smaller the height of building B

that the height of building A ?

A.10 m
B.20 m

C.40m


https://dl.doubtnut.com/l/_zurlGwmBxn9A

D.30m

Answer: A

o Watch Video Solution

4. The given pictograph shows the books of

different subjects kept in a school library ?

Subject  Number of books
Hindi L L L
nglish NS SSS
_ History . &
Scence M E X
Mathematics _ &Fd

Each M represents 200 books.


https://dl.doubtnut.com/l/_zurlGwmBxn9A
https://dl.doubtnut.com/l/_xxv5jJdYo75R

How many English book are there in the library

?

A. 1500

B. 1200

C. 1000

D. 1300

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xxv5jJdYo75R

5. The given pictograph shows the books of

different subjects kept in a school library ?

Subject Number of books
Hindi ST

English el d
History § &

Science & LT
Mathematics A 4

Each ' rl'Pr'l"ﬂ'l'lh :1'I| l"il.lll'L'q

How many Mathematics books are there in the

library ?

A. 400

B. 200

C.100


https://dl.doubtnut.com/l/_XNuvblhnpVWL

D. 300

Answer: D

o Watch Video Solution

6. The given pictograph shows the books of

different subjects kept in a school library ?

Subject  Number of books
Hindi S L L L
inglish NS SS
History & &
Scence MG &
Mathematics _ ’ ‘

Each M represents 200 books.


https://dl.doubtnut.com/l/_XNuvblhnpVWL
https://dl.doubtnut.com/l/_55j9TbLngip4

Book of which subject are maximum in number

?

A. Hindi

B. Mathematics

C.english

D. Science

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_55j9TbLngip4

Exercise Subjective Problems Very Short Answer

Type

1. Pictographs

o Watch Video Solution

2. The daily wages of 30 workers (in Rs.) in a
factory is given below.

40, 45, 35, 70, 60, 52, 49, 46, 65, 56, 60, 35, 45,
40, 50, 56, 57, 48, 55, 52, 50, 70, 75, 80, 50, 45,

52,65,72,50.


https://dl.doubtnut.com/l/_jy8OF8GvhXtD
https://dl.doubtnut.com/l/_fnCeJmSZeBYU

How many workers are earning less than Rs. 50

per day ?

° Watch Video Solution

3. The following is a list of size of shoes of 8
students of class VI :5, 6, 5, 4, 5, 4, 6 and 4. If
the shoe size less than 5 is observed for girls,

how many girls are there in the list ?

o Watch Video Solution



https://dl.doubtnut.com/l/_fnCeJmSZeBYU
https://dl.doubtnut.com/l/_bJsv9uKymDsB

4. The following bar graph shows the number

of students in different classes of a school.

TIE{]-

£ 100 - __
B0 a—
m_

| HHH

Y1 Vi ViDL IX Xl X1l
Classes

Mumber of studen

How many more students are there in Class IX

than in Class VIII ?

o Watch Video Solution



https://dl.doubtnut.com/l/_qCwhvLzvXJYL

5. The bar graph shows the number of toys

produced by a factory during a certain week.

What is the total number of toys produced

during the week ?

[ ° Watch Video Solution



https://dl.doubtnut.com/l/_fVC9EboRoc0U

6. If

represents 150  pillars, what  does


https://dl.doubtnut.com/l/_fVC9EboRoc0U
https://dl.doubtnut.com/l/_0NTDMqgMQ0qP

NV

represents ?

o Watch Video Solution

7.The given table shows the number of toffees

four friends has


https://dl.doubtnut.com/l/_0NTDMqgMQ0qP
https://dl.doubtnut.com/l/_SRIEvOMGa8Cu

‘Name Number of toffees

Naman 10
h!ﬁfﬂ] 12 ___J
Gariwa | 8
Jyoti 15 |

How many toffees does Germia have ?

Represent it by tally marks.

o Watch Video Solution

8. Students of a class were tested to find their
pulse rate. The following figures were
obtained for the number of beats per minute.

70, 60, 70, 68, 67,62, 71, 71,59, 73, 73, 60, 60, 62,


https://dl.doubtnut.com/l/_SRIEvOMGa8Cu
https://dl.doubtnut.com/l/_1jGZsQsKPpB2

6, 68, 70, 70, 74, 69
How many students are there whose pulse

rate is more than 60 per minute ?

o Watch Video Solution

9. Given below are the marks obtained by 15
students of a class in a test.

26, 39, 21, 25, 30, 28, 22, 19, 20, 43, 6, 17, 18, 20,
40

If the student who got less than 20 marks is


https://dl.doubtnut.com/l/_1jGZsQsKPpB2
https://dl.doubtnut.com/l/_eaSDlIAjYcgu

declared to be fail, then how many students

are pass ?

° Watch Video Solution

Exercise Subjective Problems Short Answer Type

1. The sales of rings on different days of the
week is shown below. Based on the
information given in pictograph, answer the

following questions.


https://dl.doubtnut.com/l/_eaSDlIAjYcgu
https://dl.doubtnut.com/l/_tmn0QQkbS4fL

Days Number of rings |
vondsy |\ QOO OO0
Twesdsy P O O O
Wednesday (€7 & O

Tursday | &

iy QOOOO000
——yryY. |
,Smm Igﬂﬂﬂﬂﬂﬂﬁ‘-
EE-ad'lﬂlE;rEﬂEﬂtslringa

el

How many rings were sold on Tuesday ?

o Watch Video Solution



https://dl.doubtnut.com/l/_tmn0QQkbS4fL

2. The sales of rings on different days of the
week is shown below. Based on the
information given in pictograph, answer the

following questions.

Days Number of rings 1
My |\ DD OO OO |
sty |\ O O O
Wednesday | () & O
Thursday | &

tidy DO0O0OO000

surdsy P O 0 O

F“ gaaaaaaa

' Pﬂwulﬁ:@



https://dl.doubtnut.com/l/_8iNxj95WSKcA

On which day, the maximum number of rings

were sold ?

° Watch Video Solution

3. The birth rate per thousand of five countries

over a period of time is shown below.

Counlry ;[Chinn India .{"-ermnny;U.K..: m
t t +— -

Birthrate 35 | 42 14 9 | 28

per

ILll'lntlnulu.ll'uij

Country with the highest and lowest birth

respectively is:

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_8iNxj95WSKcA
https://dl.doubtnut.com/l/_EgOEmAy7UAlO

4. A dice was thrown 26 times and following
outcomes were noted.
4,3,3,2,5/4,4,6,1,2,2,3,4,6,2,3,3,4,5,6, 3,
2,1,3,4,3.

Represent the above data in the tubular form

using tally marks.

o Watch Video Solution



https://dl.doubtnut.com/l/_EgOEmAy7UAlO
https://dl.doubtnut.com/l/_OMIR0EdwFPxL

5. The heights (in cm) of 20 boys of Class VI are
: 140, 138, 139, 140, 140, 147, 139, 139, 139, 139,
140, 147, 138, 140, 139, 140, 147, 147, 138, 139.
Which height has the maximum frequency and

the minimum frequency in the given data ?

o Watch Video Solution

6. Draw a pictograph for representing the

number of students in each class based on the


https://dl.doubtnut.com/l/_FuAOBfNFU3IP
https://dl.doubtnut.com/l/_7EU0GUzQ9V3b

given data.

I
70

" Class

1 _ m | m ’",_._‘ v
 Mumber of students

?Uhﬂ&ﬂ‘iﬂ

|

o Watch Video Solution

7. The data for the various height (in ft) of

students in a class is given below :
4522543 45532422 223

Make a table using tally marks.

o Watch Video Solution



https://dl.doubtnut.com/l/_7EU0GUzQ9V3b
https://dl.doubtnut.com/l/_TvYF6TKabCQ9
https://dl.doubtnut.com/l/_APXyJuvJkD9P

8. The given bar graph shows the marks

obtained by students in a Science test.

Who scored the highest marks in the test ?

Whats in the score ?

o Watch Video Solution



https://dl.doubtnut.com/l/_APXyJuvJkD9P

9. Given below is the pictorial representation
of various kind of apples in a food store which

were sold.

iT}r pes of Apples IHumbtr of Apples

mmm.oooo
QMMm000
inm Rome o Q 0 o

v DD D@

lonathan Q Q o .
Each O represents 12 apples and each .

|represents 6 .lpl:lh'q.

What is the total number of apples sold for

golden delicious and Jonathan varieties ?

l o WMiabk Al V20 dac CAli ikl an



https://dl.doubtnut.com/l/_gpEgBHs9LBzm

YVAilll VIUCUV JUVUIULIVII ) )

10. Given below is the pictorial representation
of various kind of apples in a food store which

were sold.

;ijpl'.l of Apples 1Humlmr of Apples

[Red Delicious Q QOO
Golden Delicious 0 - .
e QOO0
— DODO
- OODO
Each () represents 12 apples and each .

\represents 6 apples


https://dl.doubtnut.com/l/_gpEgBHs9LBzm
https://dl.doubtnut.com/l/_HOHBJMjGRiTk

How many apples were sold of Mcintosh

variety ?

° Watch Video Solution

11. Given below data is the marks in maths test
of 30 children of Class VI out of 35.

32,28, 27, 31, 35, 32, 35, 30, 32, 35, 27, 32, 30, 31,
33, 35, 34, 27, 30, 33, 31, 34, 27, 28, 32, 30, 27, 30,
31.

Arrange the data in decreasing order in

frequency table using tally marks.

| |


https://dl.doubtnut.com/l/_HOHBJMjGRiTk
https://dl.doubtnut.com/l/_NJu3HLa99xxK

& Wwatch Video Solution ]

12. Draw a pictograph to represent the data

given below :

| Years 2011 | 2012 | 2013 | 2004 |
[Hmdm o | 20 | & 30
planted l

° Watch Video Solution

Exercise Subjective Problems Long Answer Type


https://dl.doubtnut.com/l/_NJu3HLa99xxK
https://dl.doubtnut.com/l/_PWrDvDKIlnRe

1. The following table shows the marks

obtained by Sumit in the annual examination.

=

Studwes

| 50 |40 |60 | 70 | 50 | 55

Draw a bar graph to show the above

information.

° Watch Video Solution

2. Which colour T-shirt is worn by 48 boys?

— e —
|

Colour of } C
‘T-ihlr!___ o ] v
No.ofboys| 40 | 52 | 36 | 48 | 30



https://dl.doubtnut.com/l/_Y6vCmL4edrGm
https://dl.doubtnut.com/l/_7O8FXMp0Tqw0

° Watch Video Solution

3. Read the bar graph and answer the

following questons.

100 Scale : 1 division = 1000 newspapers
Qg 4
o]
12l g
€ | 604
%m-
£ 40 1
s
-] 30 - z
X o
g 04 || | !
‘0 ﬁ | | I‘%

What information is given by graph ?


https://dl.doubtnut.com/l/_7O8FXMp0Tqw0
https://dl.doubtnut.com/l/_AmHBE80sekOP

° Watch Video Solution

4, Read the bar graph and answer the

following questons.

Scale : 1 division = 1000 newspapers
1EI!~ "-ﬂ
90 4 :
m“ .i'
T ;
e |
-
%md .h:
£ 40 1
8
T < 30
] »
Fa 10 -

=


https://dl.doubtnut.com/l/_AmHBE80sekOP
https://dl.doubtnut.com/l/_ff65nQnDdyYF

Name the state in which 2000 newspapers are

circulated.

° Watch Video Solution

5. Read the bar graph and answer the

following questons.


https://dl.doubtnut.com/l/_ff65nQnDdyYF
https://dl.doubtnut.com/l/_7NHZfVGllURK

Scale : 1 division = 1000 newspapers

g

L

1 I

i

g 885883838

Number of newspapers circulated
(in hundreds) ——3

S

What is difference between the newspapers

circulated in Haryana and Delhi ?

° Watch Video Solution



https://dl.doubtnut.com/l/_7NHZfVGllURK

6. The table shows the number of students

playing four different games.

lﬂlmu - Number of students l
Football 200 .
Hockiey 160 |
Cricket 120
Badminton ; 80

Present this information as a pictograph.

o Watch Video Solution

7. Following pictograph shows favourite colour

of boys in a colony. Study it and answer the


https://dl.doubtnut.com/l/_CFXqX738K1co
https://dl.doubtnut.com/l/_lgTqwRPGAA7Q

following questions.

Colour No. ;l-hnrl
Green 99997

Pink Yy

Red +

Blue 9999
lElch_E repunr_:t: ;h;yn

What is the total number of boys in the colony

?

° Watch Video Solution



https://dl.doubtnut.com/l/_lgTqwRPGAA7Q

8. Following pictograph shows favourite
colour of boys in a colony. Study it and answer

the following questions.

Colour - No. of boys

Green TEYTY

Pk |999% |

Red gt

Blue . PYES _
I_Eﬁ‘:h ¥ represents 5 boys, -

Which two colours are liked by same number

of boys ?

° Watch Video Solution



https://dl.doubtnut.com/l/_tzo9kn7GLTlf

9. Following pictograph shows favourite
colour of boys in a colony. Study it and answer

the following questions.

Colour No. of boys
Green L
Pink Yy Y
Red EE
Blue YER%
Each ¥ represents 5 boys,
| Bach % rep y

How many more boys liked pink colour than

red colour ?

o Watch Video Solution



https://dl.doubtnut.com/l/_jY2bgI2Q4psv

10. Following pictograph shows favourite
colour of boys in a colony. Study it and answer

the following questions.

.Eulnur i No. of boys
Green ¥HER

Pk 2893 |
CEE

Blue ;‘QQQ a
iEm:h'fr&pmemuEhnys. pr

Which colour is most liked by boys ?

o Watch Video Solution



https://dl.doubtnut.com/l/_jY2bgI2Q4psv
https://dl.doubtnut.com/l/_1dpo87T47whj

Exercise Subjective Problems Integer Numerical

Value Type

1. If

represents 2 toffees, then

=)

represents how many toffees ?

° Watch Video Solution



https://dl.doubtnut.com/l/_zUeogeevUxuI
https://dl.doubtnut.com/l/_241CQkamXBbk

2. Which number does M | represents ?

° Watch Video Solution

3. The frequency of 2 in the data 1, 1, 2, 2, 3, 3,

4,4,2,2,3,is

o Watch Video Solution

4. Consider the runs scored by five friends in a

match.


https://dl.doubtnut.com/l/_241CQkamXBbk
https://dl.doubtnut.com/l/_3cq7oNJMnEAY
https://dl.doubtnut.com/l/_cbDS7AVE2NQ4

Persons Runs scored
' Jatin 80
Pradeep 85
Rohit 60
Dewanshu 80
Jitesh 72

If sum of Pradeep's and Rohit's scores is

10 x m + n,then what is the valueof m+n ?

o Watch Video Solution



https://dl.doubtnut.com/l/_cbDS7AVE2NQ4

5 If

represents 8 persons, then


https://dl.doubtnut.com/l/_tqDTCZkST93C

YRR

represents persons.

o Watch Video Solution

6. The bar graph shows the approximate
length of different types of clothes produced

in a factory.


https://dl.doubtnut.com/l/_tqDTCZkST93C
https://dl.doubtnut.com/l/_lJld5sjAXI3F

Length (in thousand

01 (Al (8] [e| [p| [e

Types of clothes

If the length of cloth B produced is P metres,

then the value of P = 5 thousand is

o Watch Video Solution



https://dl.doubtnut.com/l/_lJld5sjAXI3F

QOO

students, then

represents how many students ?


https://dl.doubtnut.com/l/_5doZ2zoOIoPl

° Watch Video Solution

8. The given pictograph shows the sale of

houses by a property dealer in different

months.

Months No. of houses sold
January | @ B o E i
February iR psy el
March e o pl ooy ey
April iy gl gl
May O
Each g represents 1 house.

How many houses did the dealer sold in

February and March altogether ?

| s



https://dl.doubtnut.com/l/_5doZ2zoOIoPl
https://dl.doubtnut.com/l/_qf7e5NnOnP21

| ¥ Watch Video Solution ]

9. The given table shows the types of

chocolates children like in a society.

Chocolates Tally marks
Dairy milk LRI
Kit Kat M |
Perk |
Munch I

How many more students like Dairy milk than

Munch ?

o Watch Video Solution



https://dl.doubtnut.com/l/_qf7e5NnOnP21
https://dl.doubtnut.com/l/_TZNOBhbdpJdH

AVAVAVAVAVA

represents 18 ice creams, then how many ice

r'ﬂﬁll ,l"rﬁ.ﬁ'l.l I,-"f\".l
J...l_

10. |If

creams

represents ?

o Watch Video Solution



https://dl.doubtnut.com/l/_NLchZQ0tIjwi

Olympiad Hots Corner

1. Study the bar graph given below and answer

the following questions.

{Preterences of people in playing different
games over the years.)

- [ Basketball [l Badmnton [ Tennis
,“{]E
3 LTI ]
E T 250
_— R
BT
5= 100
E E 5 s
s 21 2012 2013 Mi4 s 206
Years —p

From 2011 to 2016, find the difference between
the total number of people who preferred to

play Basketball and Badminton (in millions) ?


https://dl.doubtnut.com/l/_chBSoQFZdR2i

A. 525

B. 275

C.730

D. 250

Answer: D

° Watch Video Solution

2. Study the bar graph given below and answer

the following questions.


https://dl.doubtnut.com/l/_chBSoQFZdR2i
https://dl.doubtnut.com/l/_PgLfpfcVScN0

{Preferences of people in playing different
games over the years.)
[ Basketball [ Badminton [0 Tennis

400 §
150 §
w0
2500
200
150
= 100

. r1|lI J

Number of people
i millions) —e

-

21

2

2013 2004 s 6
Years —p

How many people (in millions) have preferred

to play Tennis in all years altogether ?

A. 3200

B. 2100

C. 1200

D. 1700

Answer: D


https://dl.doubtnut.com/l/_PgLfpfcVScN0

° Watch Video Solution

3. Study the given graph carefully and answer

the following questions.

Sports played


https://dl.doubtnut.com/l/_PgLfpfcVScN0
https://dl.doubtnut.com/l/_pfYCXebfYfAf

What fraction of the total number of children
plays football ?

A.3/16

B.13 /64

C.11/64

D.5/32

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_pfYCXebfYfAf

4, Study the given graph carefully and answer

the following questions.

110

SNumber of children —»

cS¥E8ET388

Sports played

The difference between the number of
children who pay tennis and cricket together

& basketball and volleyball together is


https://dl.doubtnut.com/l/_peeyQY6MztOi

A. 20

B.40

C.10

D. 50

Answer: C

o Watch Video Solution

5. The given bar graph shows number of cars
washed by five friends to raise money for local

children hospital.


https://dl.doubtnut.com/l/_peeyQY6MztOi
https://dl.doubtnut.com/l/_RTyM0kH2Oc2V

Number of cars washed ——3
cEZE¥ELRE IESE

Mohit Sem Mini Amit Trshi

What is the difference between the number of
cars washed by (Trishi and Sam) & (Mohit and
Mini) ?

A. 20

B.30

C.35


https://dl.doubtnut.com/l/_RTyM0kH2Oc2V

D. 25

Answer: C

o Watch Video Solution

6. The given table shows the number of
chapatis Ms sharma made on each day in a

week.


https://dl.doubtnut.com/l/_RTyM0kH2Oc2V
https://dl.doubtnut.com/l/_arUP209xIH8K

Days Number of chapatis
Monday T 1l
Tuesday H

Wednesday T
Thursday Il

Friday L
Saturday W
Sunday 1l

How many chapatis did she make in the whole

week ?

o Watch Video Solution

7. The given table shows the number of

chapatis Ms sharma made on each day in a


https://dl.doubtnut.com/l/_arUP209xIH8K
https://dl.doubtnut.com/l/_VnYyY0m2xsRv

week.

Days Number of chapatis
Monday O
Tuesday T

Wednesday ™
. Thursday I
[ Friday w1l
Saturday Tl
Sunday | w

If each chapati was made using 9g of flour,

then quantity of flour used on Friday was

A. 100

B. 81

C.90


https://dl.doubtnut.com/l/_VnYyY0m2xsRv

D. 99

Answer: B

o Watch Video Solution

8. The given bar graph shows the sale of
different brands of shirts in a shop in one

month.


https://dl.doubtnut.com/l/_VnYyY0m2xsRv
https://dl.doubtnut.com/l/_GfIPXjNjrVKp

Hrands

(1) How many total shirts are sold in the month

?

o Watch Video Solution

9. The total number of students who applied

for scholarship in the last five years is given


https://dl.doubtnut.com/l/_GfIPXjNjrVKp
https://dl.doubtnut.com/l/_CIpJJHqxu6It

below :

Year 2008 | 2009 |2010 |2011 ]zmz!

’ |
No.of 4500|3500 | 4000 |4500 ‘mm
students

Using the symbol

(i) How many symbols are needed to represent

Ao

W

students, answer the following questions.

to represent 500

the number of students in 2010 ?

(i) How many more symbols are needed to

represent the number of students in 2012

than in 2009 ?

A (i) 7

, (1) 4


https://dl.doubtnut.com/l/_CIpJJHqxu6It

B. (i) 7, (ii) 3

C. (i) 8, (ii) 4

D. (i) 8, (ii) 3

Answer: D

o Watch Video Solution

10. The given graph shows the sale of story

books in a bookshop for the first 6 months.


https://dl.doubtnut.com/l/_CIpJJHqxu6It
https://dl.doubtnut.com/l/_1NvlkXWKrUjl

In which month, the sale of story books was 1

of the sale of books in June ?

A. February

B. March

C. April

D. May

Answer: B


https://dl.doubtnut.com/l/_1NvlkXWKrUjl

° Watch Video Solution



https://dl.doubtnut.com/l/_1NvlkXWKrUjl

